

$$\Delta t = \frac{\pi}{\Delta E}$$

$$\Psi(x, 0) = \frac{1}{\sqrt{2}} (\psi_1(x) + \psi_2(x))$$

$$\Psi(x, t) = \frac{1}{\sqrt{2}} (\psi_1(x) e^{-iE_1 t/\hbar} + \psi_2(x) e^{-iE_2 t/\hbar})$$

orthogonal

$$\langle \Psi(x, t) | \Psi(x, 0) \rangle = 0$$

$$\frac{1}{2} \left(e^{+iE_1 t/\hbar} \langle \psi_1 | \psi_1 \rangle + e^{iE_1 t/\hbar} \langle \psi_1 | \psi_2 \rangle + e^{iE_2 t/\hbar} \langle \psi_2 | \psi_1 \rangle + e^{iE_2 t/\hbar} \langle \psi_2 | \psi_2 \rangle \right) = 0$$

= 0 (orthogonal)

$$\frac{1}{2} \left(e^{iE_1 t/\hbar} + e^{iE_2 t/\hbar} \right) = 0$$

$$-e^{iE_1 t/\hbar} = e^{iE_2 t/\hbar}$$

$$-1 = e^{i(E_2 - E_1)t/\hbar}$$

$$e^{i(2k)\pi} = e^{i(E_2 - E_1)t/\hbar}$$

first time for $k=0$

$$e^{i\pi} = e^{i(E_2 - E_1)\pi/\hbar}$$

$$\pi = \frac{(E_2 - E_1)\pi}{\hbar}$$

$$\pi = \frac{\pi \hbar}{E_2 - E_1}$$

$$\Delta t = \frac{\pi}{\Delta E} = \frac{\hbar}{E_2 - E_1}$$

$$\text{It seems } \Delta E = \sigma_H = \frac{1}{2} (E_2 - E_1)$$

$$\text{Then } \Delta t \Delta E = \frac{\hbar}{2}$$